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The figure shows a capacitor network. Initially, the switches are 1"."':
off, the top and bottom capacitors are uncharged and the middle I
capacitor was charged to have an energy of 25 J. Then the
switches are turned on. Calculate the final amount of energy stored 2uF
in the middle capacitor. ] t—/ e
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For the capacitor network given in the figure, the switches a : C4 =: 5"'F
are initially off and the voltage between the terminalsaand b = o ]
is measured to be ¥, = 12V. The capacitor C, is uncharged. B

Then the switches are turned on and -C, is connected to the C, = 5pF _L_
circuit. Calculate the final voltage V,, and the chargeof C,. R
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A parallel plate capacitor consists of two flat metal plates each
with area A4 separated by a distance d;. The initial potential
difference between the plates is measured to be Vy, = V. Then,
a dielectric slab having tickness d>, (where d» < d;) and the
dielectric constant K is inserted next to the left plate. The
dielectric slab has the same shape and size as the plates. What
is the value of V,; in terms of ¥ now?
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Several identical capacitors of capacitance 0.25 HF are given. The maximum voltage
across each capacitor is not to exceed 600 V. Using these capacitors, design an equivalent -
capacitor with capacitance 0.25 pF to be connected across a potential difference of 960
V. Show your design clearly and calculate the charge of one capacitor in your design.

' U el e So~e
g( \\'\C( —'ta AR . :
. ' ) b\.—su
Co Pg Ch m Ce W

-
) &“_""\\ F o C)ﬁ\ ‘,‘ *c"".!c\
! ' ar N Gy T
/ N—L-—\\-—-——\ ‘ Qy\_ v °f

QN C

i g or
' “ v ) Ce wy mmsT aM n Cngaé,
¢ . C. 2 & - | e
T Cin pecile  te have
G - v .’Q ‘C"wvl ’Capac: +awn Ce . .
= - ‘ | .
= 2 U( X le C P D
Necowse o" 53,.,.,:;'{?"3 j
< -
., & = ZhXle. 6 xs © |
’ - ) 4 x lo
S ot ‘o ! z 2 do V
=

v, =, 6xI\-
@\zc\ L -




PHYS 102: General Physics2 KOG UNIVERSITY Spring Semester 2010
College of Sciences o
Section 5 Quiz4 18 March 2010

Closed book. No calculators are to be used for this quiz.

Quiz duration: 10 minutes
Name: Student ID: Signature:

Two identical capacitors of capacitance C are connected as final d&§gance
shown in the figure. Then, the potential across the bottom ,
capacitor is measured to be equal to V. Suppose  that the
distance between the plates of the top capacitor is doubled.
What is the final voltage of the bottom capacitor in terms of }'?
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